[ Efficiency vs vertpos |

- 0.2
20.18F

@ E
>\0.16_—
2 E
50.14_—
o E
5 0.12:—

0.1+

008 +++++eeevieesreeeen |
0.06 : :
0.04
0.02

||;?!|‘||!¢|||||

J--G_ bbb

Ratio

1_

e

0.8} -1 -} -

1072 107 1

10 0?
TP vertr (cr%)

[—— DQM mMKET_TTorgmal
mkFit_TToriginal-106

—— DGM -
[Efficiend —— DQM_mKEITTNEWHSMS95 ALLITERS-106
—— DOM_mkFit_TTNEWHSMS90_ALLITERS-106

N 0.
20.09
(2]
>0.08
>
2
50.07
o ix
£0.06F---4-1Ht
(]
0.05
0.04F -}
0.03F---}}}-
0.02
0.0
JuG-I il bl

11E-
1E- fhdd L

0.9F {1t - (443

Ratio

L

0.8}

=30 -20 -10 0 10 20

30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.1

N I
U e R S

£

0.03 -+ forfon o
0.02F---+-F--
0.01E

L R Rl RIS S
L S R R R I T
P : : : : : :
S 0.06F----5----riennees e [ i
[0} : : : : : :
o : : : : : : :
=L ULVC] e S A A |
o : : : : : :

0.08F {1

10F

Ratio

b SR Ui 1B S G

0.9F-----+--}-{:

0 =15 -10 -5

0.8*

10 15 20

Sim. PV z (cm)




	Contents
	Page 1


